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Mock Test 2013 

Biology 

(Optional) 

Section – B 

(Zoology) 

Full Marks – 35 

Pass Marks – 11½ 

All questions are Compulsory 

lHkh iz’u vfuok;Z gSA 

Candidates are required to give their answers in their own words as far as practicable 

ijh{kkFkhZ ;Fkk laHko vius 'kCnksa esa gh mÙkj nsaA 

The figures in the margin indicate full marks for each Group 

gkfFk;s esa fn;s x;s vad [k.M ds iw.kkZad fufnZ"V djrs gSaA 

Group – A 

[k.M & v 

Select one correct answer:         1x10=10 

fdlh ,d lgh mÙkj dks pqusa %&    

1. Law of use and disuse of organs was given by 

a) Mendel 

b) Darwin 

c) De Varies 

d) Lamarck 

1- vaxksa ds mi;ksx ,oa vuqi;ksx dk fl)kar fdlus fn;k Fkk \ 
a. esaMy 

b. MkohZu 

c. Mh Hksjht 

d. ykekdZ 
2. Bar body is found in  

a) Males 

b) Female 

c) Both male and female 

d) None of these 

 

2- okj dk; feyr  gSA 
a. iq:"kksa esa  

b. efgykvksa esa 
c. iq:"k vkSj efgyk nksuksa esa 
d. fdlh Hkh esa ughaA  
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3. Uracil is present in RNA in place of  

a) Thymine  

b) Cytosine 

c) Guanine 

d) Adenine 

3- ;wjkfly] vkj0,u0,0 esa fdldh txg mifLFkr gksrk gSA  
a. Fkk;ehu 

b. lkbVkslhu 

c. xqvkuhu 

d. ,sMsuhu 

4. For confirming the typhoid fever, which of the following test is done  

a) ELISA test 

b) WIDAL Test 

c) Radiation  

d) None of the above 

4- VkbQkbZM cq[kkj dks lqfuf’pr djus ds fy, fuEu esa ls dkSu lk tk¡p fd;k tkrk gS \ 
a. ELISA Tkk¡p  

b. WIDAL tk¡p 

c. jsfM;s’ku 

d. Åij esa ls dksbZ ugha  

5. NPP stands for 

a) Net Primary Productivity 

b) Net Proposal Project 

c) Network Proposal Productivity 

d) Net Project Productivity 

5- ,u0Vh0ih0 dk eryc gksrk gS \ 
a. usV izkbejh izksMDVhehVh 
b. usV izksiksty izkstsDV 

c. usVodZ izksiksty izksMDVhehVh 
d. usV izkstsDV izksMDVhehVh 

6. Which of the following is the primary producers 

a) Red Flowers 

b) Green plants 

c) Animals 

d) Earthworms 

6- fuEu esa ls dkSu izkbejh izksM~;wlj gSA  
a. yky Qwy 

b. gjs ih/ks 
c. tkuoj 

d. dsapqvk 
7. After ovulation the structure formed by rupture of graffian follicle is known as 

a) Corpus luteum 

b) Corpus albicans  

c) Corpus callosum 

d) Placenta 

7- xzkfQ;u QkWfydy ds QVus ds ckn] vaMksRlxZ ds neZ;ku] tks lajpuk curh gS mls & 
a. dkWilZ ywfV;e dgrs gSa 
b. dkWilZ vYchdal dgrs gSa 
c. dkWilZ dSyksle dgrs gSa 
d. IyklsUVk ¼vijk½ dgrs gSa 
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8. Malarial parasite is an example of  

a) Competition,  
b) Parasitism, 
c) Commensalism,  

d) Mutualism 

8- eysfj;y ikjklkbZV ;k Toj cq[kkj ds ijthoh fuEu esa ls fdlds mnkgj.k gS \ 
a. izfr;ksfxrk 
b. ijthoh  

c. lgHkksftrk 
d. lVksidfjrk 

9. Which of the following pattern of chromosomal sex determination is present in human 

beings 

a) XX-XY pattern   

b) XO-XX pattern  

c) ZO-ZZ pattern  

d) ZZ-ZW pattern  

 

9- fuEu esa ls dkSu lk Øksekslksey lsDl fu/kkZfjr djus dh O;oLFkk euq"; esa gksrk gS \ 
a. XX-XY iSVuZ  

b. XO-XX iSVuZ  

c. ZO-ZZ iSVuZ  

d. ZZ-ZW iSVuZ  

 

10. Which is the following is a genetic vector  

(a) plasmid  

(b) phage  

(c) cosmid  

d) all of these  

10- fuEu esa ls dkSu lk tsfufVd HksDVj gS 
a. IyktfeM  

b. Qkt 

c. dkWLehM 

d. Åij ds lHkh 
Group – B 

 

Question no.11– 13 carries 2 marks each       2x3 = 6  

iz'u la[;k&11&13 02 vadksa ds gSaA   

 

11. Match the columns ( ½ x 4 =2) 

 

Set A Set B 

a) Testes 2) Oogenesis 

b) Ovary ii) Spermatogenesis 

c) Corpus luteum iii) Spermatid 

d) Seminiferous 

tubules 

iv) Progesteron 
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11- dkWy~El dks feyk,¡ & 
 

lsV v lsV c 

¼d½ o`"k.k  1- vaMtuu 
¼[k½ vaMk’k;  2- 'kqØk.kq tuu 
¼x½ dkWilZ Y;wfV;e 3- iwoZ 'kqØk.kq  
¼?k½ 'kqØtuu ufydk,¡ 4- izkstsLVsjksu 

 

12. How many types of blood groups found in human beings? Which group is called 

universal donor?  (1 ½ + ½ ) 

12- ekuo esa fdrus rjg ds jDr ik;s tkrs gSa \ dkSu lk jDr lewg lHkh dks fn;k tk ldrk      
 gSA   
 

13. Expand the following abbreviations ( ½ x 4 = 2) 

 fuEufyf[kr dks iw.kZ fy[ksa & 
(i) MALT 

            (ii) HIV 

(iii)STD 

 (iv) MTP  

Group – C 

 

Question no. 14 – 16  carries 3 marks each        3x3 = 9 

iz'u la[;k 14&16 03 vadksa ds gSaA  
 

14. In the following diagram name the processes marked as 1, 2 and 3.   

 fuEu fp= esa gksus okyh izfØ;k 1] 2] vkSj 3 dks fy[ksaA  
 

 

 

 

 

 

 

15. Expand MOET. MOET is a technology in which hormones are used, name this hormone. 

The hormone induces follicular maturation and supper ovulation and produces how many 

eggs per cycle?  (1+1+1) 

 ,e0vks0bZ0Vh0 dks foLrkfjr djsaA ,e0vks0bZ0Vh0 rduhd esa iz;qDr gksus okys dkSu ls 
 gkekZsu gSa mldk uke fy[ksaA gkeksZu tks QkWyhdqyj espqjs’ku ,oa lij vksH;wys’ku dks izsfjr 
 djrk gS vkSj fdrus vaMs ,d pØ esa cusrs gSa \ 
 

16. Fill in the blanks with suitable options given within the bracket 

(a) Carbon cycle is an example of ____________ (Gaseous/Sedimentary) 

 (b) Sulpher cycle is an example of ____________ (Gaseous/Sedimentary) 

 (c) Phosphorus cycle is an example of ____________ (Gaseous/Sedimentary) 

     1           2   3 

      DNA   RNA                      Protein 
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 dks"Bd ls lgh mÙkj dks pqudj fjDr LFkkuksa dks HkjsA  
 ¼d½  dkcZu pØ                      izdkj dk mnkgj.k gSA ¼xSlh;@volknh½ 

 ¼[k½  lYQj pØ                      izdkj dk mnkgj.k gSA ¼xSlh;@volknh½ 

 ¼x½  QkWLQksjl                       izdkj dk mnkgj.k gSA ¼xSlh;@volknh½ 
 

Group – D 

Question 17-18 carries 5 marks each        5x2 = 10 

iz'u la[;k 17&18 05 vadksa dk gSA  

17. Fill in the blanks choosing correct answer from the bracket  

(a) The number of births during a given period in the population that are added to the    

initial density is _______________. (Natality/Mortality) 

(b) The number of deaths in the population during a given period is ___________.               

(Natality/Mortality) 

(c) The number of individuals of the same species that have come into the habitat from             

elsewhere during the time period ____________. (Immigration/Emigration) 

(d) The number of individuals of the population who left the habitat and gone elsewhere             

during the time period ____________. (Immigration/Emigration) 

(e) Any species growing exponentially under unlimited resources can reach enormous           

_______________. (capacity, density) 

 

 fjDr LFkkuksa dks lgh mÙkj ls HkjsaA  

 ¼d½  lef"V esa tUeh og la[;k tks nh xbZ vof/k ds neZ;ku vkjafHkd ?kuRo esa tqM+rh gS 

 mls ------------------------------------ dgrs gSaA ¼tUe nj@e`R;qnj½ 

 ¼[k½  lef"V esa nh xbZ vof/k esa gksusokys ekSrksa dh la[;k --------------------- dgykrh gSA ¼tUe 

 nj@èR;qnj½ 

 ¼x½  mlh tkfr ds O;f"V;ksa dh og la[;k tks nh xbZ le; vof/k ds nkSjku vkokl esa 

 dgha vkSj ls vk;s gSa ---------------- dgykrs gSa ¼vkizoklu@mRizoklu½ 

 ¼?k½  lef"V ds O;f"V;ksa dh og la[;k tks nh xbZ le;kof/k ds nkSjku vkokl NksM+dj 

 dgha vkSj pys x;s gSa ------------------------ dgykrs gSa ¼vkizokl~u@mRizoklu½ 

 ¼p½  vlhfer lk/kuksa ds vUrxZr tc dksbZ tkfr pj?kkrkadh o`f) djrh gS] rc mlds -------

 ------------- esa vR;kf/kd òf) gksrh gSA ¼{kerk@?kuRo½ 

 
18. (a) The pyramid shown below is for _______________of an  ideal ecosystem (1 marks) 

           uhps fn;s x;s fijkfeM esa ---------------------------- dks n’kkZrk gS tks ,d vkn’kZ ifjfLFkfrdh esa 

  gksrk gSA   
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(b) Label a, b, c and d in the diagram (4 marks) 

      fp= esa a, b, c  vkSj d dks ukekafdr djsaA  
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